® 4714

2+3=5 (7H)

Z



AAZRONH B AR 7He ol 4 744, BARIA € AH R FHe
gol 5 7427k ek, A AFL Eskel B AH S AH ¢ AgoR
e Ao T @ 71|17

® 14 7 @ 16 719 @)20 77

@ 22 714 ® 24 714

4%5 =20 (7H])




3.

S R Ee BT Gt EAEAACA EAE 149 SRS 1
Ae AestE 1 g 1 9] AASE

AT ELAE

o O] EAE
2=

e Fol}

e

o

@ 5714 @ 6714 ® 7714
@ 8714 ®)971A]




FA9E Tl GRS W, A WAL 29 w40 o] o &
BRI 69] 57} Lo H 99 Sk

@ 3714 @ 47}A ® 7714
@ 9717 ®) 12714

20| vl 2,4, 6 & 37}
6°] 9F: 1,2, 3,622 47k20]BR
3x4 = 12(7})




@ 8 744 @ 10 7HA ®)12 714
@ 14 7HA ® 16 7HA

HIA £ stz Fol 3 E2 Al¢e A9 o 228z 3x
2x1 =6 (7HA), HHA7F A= 9125 HHE 4= Qle B R Fote
AL £ (3x2x1)x2 =12 (7FA]) o]tk




® 3 7H @ 4 744 ®)8 7H

4x2=8 (7))




7.

A, B 9] 24918 SAle] 92 1), bt 0] 5:9] o
i A 90) H19

@ 2744 @ 4744 ® 5714
@671 ® 771

ok o] 9] Fol 70] HE B9
(L, 6), (2, 5), (3, 4), (4 3), (5 ),

6, 1) & 6 7F] o]t




SAL, 2, 300, 208 A7 A B ThE FolA Yol 4 Be
o, 30] WS i 8 9] Bl Lo 90 49

@ 5714 @ 6714 ® 7714
@)871A] ® 9714

39 Hj4=3, 6, 9, 12, 15, 18 2 67}x]0] 1L 8 9] HlS= 8 | 16
2 27Fx]olt}, whabA] 3 9] v T 8 9] HijrTt Lh o= 790
S5 6+ 2 = 8(71A]) o]t




@ 7 )7k

@ 6711 @ 7714

@® 5714

‘ AW 5742, B 4T B 5+ 4 = 9(7}H)




10.

2, 3, 5, 7, 119] 7} Z42F 231 5 0] 7FEof|A 2 A2 FHotA THE
o]

57
5 Qi BAt BT 9 A7}

@ 127 @ 16 7 (@)207]1 @ 247 ® 3070

5 9] 7hE Fof RHo| Folrbs A9 £k 5 A, B
Sol7ke B399 Sk 4714 o] BE WHEo] Ak B4 H9

2L 5 x4 = 20(7]) o]}




11, 0,1,2 3 9 547 49 479] 1= FoA 332 BobA s 4
Qb A AHele] ot BE B 7497}

® 6744 @ 9714 ® 1271
@)187H4 ® 2171

uo] o] & 4 gl £AHE 0.2 AT 1, 2,3 9 374Kl
Hol Aol & & Ik £AE M A9 22 AAT 3
FHAlole, Aol Aele] & 4 Sl SAHs el A2 st Ao
A2 9] 5745 A 213 27kx ol et.

5 3x3%x2=18 (7}A)




@) 15711

@ 8714
® 3074

@® 2744
@ 247}

N X
_—
N N
™M 10
<f <
ol of
o of
T T
A=
B B
o o %
o ,moﬂ
— o
X
(a0




® 209

@ 104

® 100 ¥

@ 90 ¥

(§) eIt




14.

1904 15747 9] 27} z+z}

7) Q= 1549 7T=7} Q. o] S0l A
ghgol 7tEE WS o, o

Z_:lld AR
&3 A9 S 2 AL

@ 59 "9 ol hew= A2 &

@ 159 %49l ol ek B9 %
® #49 ol ot 390 4
@25 ol ot Z20 4

® 1050} 2 %) o] ok 3 4

B

@ (5, 10, 15) 3714

@ (1, 3, 5, 15) 47174

® (2, 4, 6, 8, 10, 12, 14) 77}
@ (1, 3, 5,7, 9, 11, 13, 15) 87}4]
® (11, 12, 13, 14, 15) 57HA]




D, EtA o] dd= A uf B7F W refl, C= # Hol

@ 374 @ 4714 ® 5714

B, C9 g7t 1o gloeug A D, EE dE2 A=
ALY $E3x2x1=6(7H)




16. A SO M F7A] At AR o] 5d o, d PE AAH 4 H %9
FE7
F
P
S

@® 6714 @ 9714 ® 127H4]

@ 15714 (3))18714]

S ->P:67H

P > F: 374

w2t ohe 92 5 6 x 3 = 18(7HA]) o]t




17.

109#eE] 54 474, 1009788 &4 570, 500 L& 5 6 S
AA 2 BT 4= Qe FH2 2 7HAQI7E? (B, 09 A Eot= A2
A 2] gtet.)

® 1607}#] @ 170714 @ 1747}A]

@ 175744 179717

S5 \
100¢9#e] 54 5702 AEE = = FHo] 500 947 T4 1
et Zov=g 500 44 6 7HE 100 942 30 7] = TF3tTh
upebA] ek} sk 99 4= 10 94 47, 100 9#=2] 35
N2 A2 S e FH9 71A] Foltt.

. 5x36—1=179(7HA])




18. thg 179l A, B, C, Do 4747 A& A Z-& Ao 0|95}

A
B|C|D

® 4744 @ 12714 ® 367H

@ 10714 ©)as7H4

Aol A 4= Q= A2 471R]0] 1, Bol 24 Qle A2 3714,
Ce DO A 4= Q= ML 27FA]0]|BR  4x3x2x2 = 48(7}
Z])

N




19.

1, 2, 3, 4 9 =27 247 A7 o] 0] 7EETL Fof Al FEYellA
3740 7tEE Bot Al A2 45 whE ), A2 N EH Ar|eer
17 917 4= 550
@ 321 @ 324 3)341 @ 342 ® 412

[ [ ]939E3%x2=6 (1),

o [ ]aA$E3x2=06(HA),

I [ 19 49E3%x2=6(FIA)olng 22 ARE 37]%

O 217 A o= Al A A5 3 08 AFSte Al AF A4

7heH EollM & ARl 341 ofct.




